37 AL = 108 & & 5 . L
T L T A S T A T
# oL ‘ T e a3
0 # g 5 a2 IT 5 i .

- ~EAFHFE2 A 10%
( 3. THR- s BB G FLX D 1L ?
<D#@40a¢&%’%mﬁ&§#%@
£%
@J_—’qu A &
@mm"/{g‘f‘—"mfa

@ - Py~ - BB FHOR R

@® i
@ ® =% E+f% F
@ FliE- Blai R f&ﬂmﬂ’%f«
@ FlAx+ > F1 % F4x

C 1)3. 28— BRI D fd s ?
D Lz 6 24
@ E % 8 =& ) A,
@ F% & 31.4 =4 hlf]A
@ 6 2mehta

(3 D4 et > &7 115% a7~ &4 R
F190 B chd » g848R 2
D 103.5 &
@115 &
@90 B
@ 25 B
(2 )5 THSTTRET G4 5E 2
99|99
el
| 9g/[9
D9 = 5
@18 =5
@15 = 5
@12 =5
SCBEF I ER2A 20
(D
()_:_Q(km)
d BT R B ] oA RLAEEER L
(9 Doz watplex T | 23 g
¢ 1:300000 Yo BRI BEI R FHER T
2422 R FL L8 I2A

(2”%@3*"*%&1\1 > & 25 ’u“‘%Sﬂé’rp AR
PEE S REI128 2R EEDEREES
( 100 )=~ -

3
o

A

() #1224 » & 8 24 = &2, F %%+

|
Bl w42 ( N )

3 4

3 & w’ﬁ’ﬂmﬁi

(4);‘%§Eﬁﬂﬁ’{y N EREE IR 2NA 4

£ E 16 = o spRBROTES o R RAL
,w'luz Py EhE st e
( yx3-2=16 )
(5)% ¥ 3pF » £frsF T - kL 1024 » 5486
N EnE 3 A5d Mo 3 hiERE ARG T -
s P B ROELLC 6 A

% £~ 98(  18.84 H)om o
AZFEERRATTROBFISFIEL R
- B 5 A ff+ 9 A00. 42 PEE PN

T3 A+ E A et @
rdrk g B AL F g FHy 28 4 0 Y

36 )4 o

= —“ﬁ]‘?“:iﬁazk\ 16%
L. T‘iﬂ—\}\w“?}n herk AR ok 44 o
KREAT)| 12 | 24 | 36 | 48 | 60 | 72
R 1 | 2 | 3 | 4 | 5| 6

CORS EEATEIESS & Bidt IR S
¢ 4 )
(2) B R Eopd @ enpd 250 o

(B x12 =k % )



(ki egim ek B fepr B enff 2 = M 2R -

§72

> 60

=l

— 48
36
24
12

e
12 3 4 5 6um

RATER SR A ek & {epE Rk T R

(4)d % ()AL B 4B 7 5o RITEEm 1 96 o2 e
kg FRIOUFER?2( 8 )4

2. 7 A BMensgH 0 o BAT Blarc < §/ -

A D
30°
15 = »
20 2 A
B C ‘k
ENpan "

(1)«CE( 50 HA -
(2)«£E&£(C 100 H& -

3
(3) " WAz Bl( Ve ) 45 o
(OBCE(C 9 )ooa o

o~ RAE R A 18%
1.3 7lemt v 2 B H Aot

I 11

3 .1 .
(I)IT ' (2) 2 B :1.25

3:2 7:3

2.7 ENY s y Ry EE S 9
1

1 3 2
O x5 =Ty @yt 2y

3. K[ ]¥ el o

(1)85 : 17=10 : ] L

1
(2)9: DZT Fom

I BT 36Y%
(1) - BE=A50% £ 896 24 » £ fefant @4

)
S EBE A LS T 2 2 4

3

540 L & o4&

(D)F - BorfF 9T T FofA 40 0 KA
: 1 )
xR ’3{27 AR L B Bl 2] T

2 (RARANEN L EE )%

(3) v bi% 5 Q

M5k hB % QLSS 2% 2 4%

257 =~ =



(4)1\4@? A £ B 8%

4cm

4cm

% £ 28.56 24
B oAk .44 T 5 2 a

(6)%&% (b))% »
£ T 5 E]”' P RE
REAWARE ’%-F TRT o Bant
251 ) 7 4%

3. 15 = ¢

L B3 Bt B 2%




